Pay Dock Semi-Monthly Salary is $1500; 10 Day Pay Period: 1 Day of LWOP

g;atlirgﬁlg H 1. Calculate the amount of Regular Pay due the employee.

a. $1500 divided by 10 work days = $150 per day
$150 multiplied by 9 work days = $1350
Cred Comp - $1500 b. Key $1350 on HUAO3 as a Regular Pay override.
M 2. Because all of the Creditable Compensation is not accounted for in the
LAY transactions entered 8XX overrides must be calculated and entered for all
$1350 applicable Retirement (012 or 127, 116, 117), Retiree Credit (105, 115) and

Buyback (017, 043) deductions on HUDOL (the puzzle pictured to the left is not

complete). This item will show on Report 869. (If the HOBID salary was not
reduced, the Group Life and LTD calculations will calculate correctly without
an override.)



